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P19t (Instructions)
1, sww-qagmqolﬁmoqa:r% et 12 25 e Ry o, 26‘\Er50aasﬂiﬁ1asﬁ?51%r

100 WHIRIEE TIraT 3 F & |

This Question Paper Booklet contains 100 questions, out of Wthh 1 to 25 are ﬁ
Hindi Language, 26 to 50 are of Mathematics and 51 to 100 are of Mental Abili ’
questions.

2. W qargmqal frmumm%mﬁaﬂﬁm(m (B), (C) @@ (D)%érnﬁ%‘ ISEEE
acT U Tacbed el &1 OMR FR Tad § Jediss Fe- TReT & A o1 TR IR gl 9 ¥ obaet
3% 1 1 QUTel: TBTeT S 1 3D SRR 39 9 & 3TR 1 el fapea 1
In Question Paper Booklet, four option (A), (B), (C) and (D) are given for the
answer of each question, in which only one option is coirect. In OMR Answer
Sheet, darken that citcle completely among the given four circles against each
question, which.is the correct opt1on accordlng to you.

3. OMR 3R U ¥ & e 3Ma0e Fide OMR 3R TG & T ﬂmtr\’:ﬂﬁiaé‘l

For filling OMR Answer Sheet instructions are given on the backside of the OMR -
Answer Sheet.

4. TRYET & IRTT OMR IR T30 Fa FRIGrP Bl 419 o Wﬁgi\ﬁaaﬁqﬂanﬁmw
o1 T | &

OMR Answer Sheet is to be submitted to the invigilator at the end of the examination.
The candidates are allowed to take away the question paper booklet with them. |
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' %‘-%;‘%(Hmm) | '
1. a‘s”@ﬁé’r‘é@@r@aﬁmﬁm@ﬂa 6. Eaimsﬁaiﬁ@r‘aquqm%mﬁ

fopu ST Tt &, BRI & - x . BEE:

(A) = | » | ‘m)%m
(B) aof - - (B) o
(C) a1 ', (C) or
(D) UE , o (D) S

). TETEEAS R 7. R RIS aemd W

| | Vo TR BROE
FA% i ~ (A) Tl BR®
)@ (B) XU BRE
W) ¥ * (C) FATIBRT BRE
() ¥ (D) THE BRED
3. PR i paid &'ﬁﬁﬁm@ﬁﬁi%mﬂﬁ'
(A) TE@EET o &
(B) c®®ET : (A) Tresms
(C) THEET ?;3?25
| . o)
(D) BTEEU |
(D) _ o (D) i \
* - W 9. ‘AR U § WY T ¢ -
(A) HID :_sn_
LA
() &m | (C) 3R
(D) BT | SN ) S SR
5. 3 3T P @Y el gl a9 # 10. .'ﬂ‘@?ﬁﬁi‘lsm B g W AT B
T’ SBRYT B Ge A | (A) Ssfl
(A) AR TaH (B) fomar fagimor
(B) ﬁ?ﬁ’rﬂai‘ﬂé:rm (c) Tosam
(C) FreeRmarEs W | (D) AT

(D) =T & IS Tal
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11,

13,

%éaimﬁamdm Tl dldu?f
(A) %@mamas
(B) YU=-drddh

(C) Fieams

(D) T garD

e o T e

(A) 3Tt
(B) aget
(C) Tud
(D) Frewe

e o fosw o et e T

L (A) STEFN

14,

(B) fdsm

' (C) I

(D) Sige

amaawm:m Wﬁﬂmma‘m

A aﬁnmm

| (B) o

(C) ufowEeE
i (D) B

15!

“Sfears” o iy forede @

T (A) T + T

. (B) ¥q + M
| (C) T + 3TIE
' (D) ¥ + &
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16.

- 17.

18.

19,

20.

“3MTBIET-UTCTeT Th PR JaTaR T 319,
g:

(A) ¥&d 318® ¥

(B) g 31 RIS AT -
(C) Sgadaremr

(D) Sgd THAUS P

1 o qgve e &
(A) STt

(B) 3

(C) s

(D) &

2 avr ey S9IS &7)’ 59 9T BT
Ve gaghd & |
(A). UTT & Aieed ISt o
(B) & TSt T qUvT Wifgedr| -
(C) 1T o & wifeed adon)
(D) <IfEc ST BT ey &

BID-TID IE I B el H &
(A) EB-|FT

(B) S-SRI

(C) egr-ica

(D) eng-ergr

wmaﬂﬁmﬁ%«?%‘

(A) =
(B) @I
©c % -
(D) #
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ST G| T o1 g 39 Racs! & gfese, 5 J0vs & Wi T I uad b T 81| Bl
@1 al THg ol ged 3R & 3reEt oRE W O Tiee, qeifs T 9 BE PR d 31 ST
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3R YW Y AT TEIRT &, R 5/ T9Y & 98 el [adT 3 36 Bio-gdi &
4! d _

T AT TSI
meﬁ%%ﬂmqmﬂw T E : 24, TRIET ¥ 3T HER U Bl GoTTarE
(A) ST 1 T |
(B) 9T @I - A) 3m
(C) 3R ®I .
| , (C) <=
Reer g ¥ T S ToIRT - N ORI
(A) o g € gF e SEmT o ' |
- (B) Tore ST At e | 25. 9 TR O 3UGH 2NN BN :
(C) T g & HET BT T | (A) T @ e
(.D) 579 THT Pl §§1E T | G —
B T GHT DI BE DI & TAT AT © Feeely i
et TR | (D) ST

(A) d WY &I B
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261

ﬂﬁﬁ ( MATHEMATICS)

éﬁqm@raﬁ’rmaﬁwaaﬂ
m%ﬁﬂaﬁ@ﬁﬁwlwwm

(A) 1

(B) 999
(C) 100
(D) 1000

IR v ot T IRET 100 Mex &, ar
39 i BT &%l &N

(Aj 25 0

_(B) 10?2

- (© 225 {2

(D) 625 {1

0.075% T S2FET RFT FF 8 -

(A) 0.075

' (B) 0.0075

Y (C) 0.00075

(D) 0.7500

29
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5 & T UfT TS T 3 &

é-(A) 10
() 20
3,-(C) 5
ii’(D) 15

26.

‘The difference of-the largest three

digit number and the smallest four
digit number will be :
(A) 1

©(B) 999

27.

28,

29.

(C) 100
(D) 1000

.If the perimeter of a square is 100

meter, then the area of"the square

~ will be :

(A) 25 meter?
(B) 10 meter?

(C) 225 meter?

(D) 625 meter?

The decimal fraction of 0.075% will
be : '

(A) 0.075
(B) 0.0075

(C) 0.00075
(D) 0.7500

The average of the first five

multiples of 5 is :
(A) | 10

(B) 20

(C) 5

(D) 15




30.

31,

32.

'33.
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0.304 x 20 .

(A) 0.01 .

(B) 0.001

 (C) 0.0001

() T Dl Tal

TE BE A 6§ TP [WH B 24 TS TG

e 1 a8 10 firie & oo g5 wg
AT & - |

(A) 1

(B) 2

(C) 4

(D) 12

AR L R E -

(A) 180° 45°
(B) 110°. B
(C) 120° 75°

(D) 100°

567857 § 5 & RIFIY AHI BT TOHHE

(A) 250000
(B) 25000
(C) 2500

(D) 25000000

30,

31.

32.

0.304 x 20
The value of —————x 0.1 is:
alue of g axg <M1
(A) 0.01
(B) 0.001
(C) 0.0001

(D) None of these

A student can read 24 pages of a
book in two hours. How many
pages can he read in 10 minutes:

((A) 1

(B) 2

- (C) 4

(D) 12

In the given figure the value of X°is :
(A) 180°
(B) 110°
(C) 120°
(D) 100°

33. The product of the place values of

5in 567857 will be @

(A) 250000
(B) 25000

(C) 2500

(D) 25000000

[ Turn Over]



34; 72 9. /aver @1 5 Aie/Aoevs o

i
!
3
1
g

21T -
(A) 10 W/%éa"o‘sr

' (B) 20 Wex/ApUE

!

35,

36.

37.

“(C) 30 Hex/ApvE

(D) 40 Mex/Apoe

wgﬁammwﬁ g, Fhs'ﬂﬁ

| ORfEr g -

C(A) 22 3.
' (B) 33 3.
L (C) 44 9.

(D) 55 I,

@'@Tasm'\rr%zso q| I T 50 B
W@ﬁé’rlmwwaﬁﬁm

a:rnﬁmﬁfr?ﬂﬂ
(A) 20%
?(B) 30%
?E(C) 40%
é(D) 50%

TP PR X 4,50,000 § T TR 10% Y

A aﬁsﬁrélmaﬂmaﬁia‘m:
I(A) T 45,000
"'(B) % 50,000

i(C) ¥ 5,00,000
(D) ¥ 5,50,000

RGNV/20

34.

35.

36.

37.

The value of 72 Km/hour in meter/
second will be :

(A) 10 meter/second

(B) 20 meter/second

'(C) 30 meter/second

(D) 40 meter/second

The diameter of a circle is 14 Cm.
Then the circumference of the circle
willbe : o
(A) 22 Cm.

. (B) 33 Cm.

(C) 44 Cm.
(D) 55 Cm.

Ramesh had ¥ 250. If he bought a
book of ¥ 50, then the money
spent on that book would be in
percentage will be :

(A) 20%
(B) 30%
(C) 40%
(D) 50%

Theré is a loss of 10% on selling a
car for ¥ 4,50,000. The cost price

of the car will be ;

(A) T 45,000
(B) ¥ 50,000
(C) % 5,00,000
(D) % 5,50,000
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38. %, TBG’ %3ﬂ? —E— G2l RPHE: 38. The ascending order of 3 10’ &
\ -
- " 2 . -~ -
| and E is : |
3 15 2
(A) —mi3rzre 3 152
103 6.5 B N o M)
(A)’ 10’3"6’5
21 3 5 '
B) 232 2135
) 5'3'10"6 ®) 57572
1352 1 35 2
(C) 3’ 10 6,5 (C) _3_’ ‘Ia,g,'g
3125 3125
®) 1573'5'% D) 153 5%
! 3 1 ‘ 39. “The deqmal value of L + 3 +. k)
39 357100 " Iﬁm@'”“a“ﬁ% 257100 10
_ is |
(A) 0.40 A 0340
(B) 0.41 (B) 0.41
(C) 0.42 (C) 0.42
(D) 0.43 % (D) 0.43
" 40. qa'ofr\ci@:n-[ m%éa?’ﬁ*g 40. The predecessor of whole number
- : ' 1is : |
.(A) 2 (A) 2
(B) -1 B) -1
(€0 (C) 0
(D) - (D) -2
41. 47 QQWWWW 41. The LCM of 4 and 22 will be
(A) 4 (A) 4
(B) 22 (B) 22
(C) 33 - (C) 33
(D) 44 (D) 44
9 | ‘ [ Turn Over]




42,

44,

46.

i
1
H
i
i

V/ 20

69 BT AT T &

(A) LIXIX
(B) IXL
(C) LXIX

¢ (D) LLIX

. ﬁwwmﬁw@ﬁéﬁ%ﬁm

i i St el &, A1 12 W gt

& giBR et 3 fibam ao §o o &

(A) 3
(B) 16
(C) 36

.. (D) 48

4 37t B TR B S A W, 5
(A) 1000 . . \
(B) 1024 - '

(C) 1111

(D) 4444

. 194056 &7 foxaTRa |17 8A -

(A) 100000+90000+4000+4-0+50+6
(B) 10000+9000+400+0+50+6
(C) 100000+900+4000+0+500+6
(D) T ¥ PR el |

20%x15%5 T, % TR %@ cal
3TRIET 81T |

(A) 1100 T T
(B) 1200 T I,
(C) 1300 T J,
(D) 1500 T JH.

i0

42.

43.

44,

45,

46.

»

The Roman Number of 69 is ]
(A) LIXIX

(B) IXL

(C) LXIX
(D) LLIX

If one student covers an area of 4
square feet for sitting in his class.

- Then how many students can take

seats in a square shape class of 12
feet :

(A) 3
(B) 16
(C) 36
(D) 48"

What is the least number of 4 dig-

its, which is a perfect square :
(A) 1000
(B) 1024

(C) 1111

(D) 4444

The expanded form of 194056 will
be: - .

(A) 100000+50000+4000+0+50+6
(B) 10000+9000+400+0+50+6
(C) 100000+900_+400‘0+0+500+6
(D) None of these :

The volume of 20x15%x5 Cm
Cuboid box will be :

(A) 1100 Cm3
(B) 1200 Cm3

- (C) 1300 Cm?

(D) 1500 Cm3

. prmps |




47,

48.

49,

50.

gEi3e

)

1 .1 .
2 x3>+5 o HF AN
6 “5* 3773 P

52
330

723,
330

- 50
330

3 52
330

(A) 7
(B)

(o)

1%1mﬁ5@a3mmaﬂ@méﬁ1
(A) 25
(B) 30
(c) %
(D) 40

e Fidaa & e 6:25 W gl e
FRE 5:30 W G aiar &1 fes o
3rafer 8 |

(A) 12¥er

(B) 11 ®er 5 e

(C) 12 Her 55 fFe
'(D)11ﬁa35ﬁma

(218-3+2)}+15+(12-7)+3 B
qe & |

(A) 40 -

(B) 32

(C) 30

(D) 26
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47.

-(C)73

48.

49,

50.

(®)

1 20,1 1
‘ 9= -3=x3=+5=
Thg valu§ of G 5>< 273
will be : '
', 52
7=
(A) 330
7 53
- 330
50
30
52
330
The prime numbers between 1 to
100 will be : '
(A) 25
(B) 30
(C) 35
(D) 40

(D)8

On a certain day, the sun rises at
6:25 AM and sets at 5:30 PM. The
length of the day will be :

(A) 12 ®er
(B) 11 Her 5 e

. (C) 129155 M
(D) 11dger35 /e

The value of
{2018-3+2)}+15+(12-7)+3is:

(A) 40
(B) 32
(C) 30
(D) 26
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Y & TR fabey fow e & o 9

A fawen fpen 7 fopen wu s T €,

o fawer 59 9 Ve 21 e Rea @

‘ (A)', [GRCEED

(B) 3EHEETE

f.(C)ﬂﬂtna

- (©

55,
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52.

. (A)

(D) %

(A) 3R
(B) TSRT®
(C) W

(D) g

. (A) T&

(B) e
(C) T
(D) w&g

(B)
(D)
(A)
(B)

(C)
(D)

| 12 |

51.

B2

53,

54.

<

(B)
- (©)

©

RIS DT (MENTAL ABILITY)

Directions (Question No. 51 to.
55 ) : Four options are given in each
question. Three of them are similar
in some way and one is odd. Find -
the odd one : .

Lucknow
Ahmedabad

(A)

Bhopal
(D) Chennai
Lion
Giraffe
Tiger

(A)
(B)
(C)
Leopard

River
Lake
Pond

Mountain

(A)
(B)
(C)
(D)

(A)
(B)
(®)
(D)

Jupiter
Venus

Moon.

Saturn
(A) Squaré
(B)
(C)
(D)

Circle
Triangle

Rectangle




frder (sre1 W 56 & 60 D) . Directions (Question No. 56 to
FreeRag weat 3§ voas B () & - 6@) : In the following questions,

: . . & select the correct option from the
w“':‘q T BT ?Ef T ferded | given alternatives which replace
3 el 3T BT I Diiore| '

guestion mark (?).

: MeT '_:: J9g ?. 56. Distance : Meter :: Time : ?
(A) Toberum | ' (A) - Kilogram
(B) B - (B) Work
(C) Jbug (C) Second
- (D) Eﬁqaq (D) Ampere
57. 9] : O :: 9187 : ? ' S 57. Lion : Den :: Horse : ?
' (A) -\3'@'[ . (A) Tunnel
(B) W (B) House
(C) Titeman (C) Shed
(D) . 3T (D) Stable
Sé. ﬁHWSTW ST P 58. ‘Schoo‘ll: Teacher :: Hospital : ?
| A Tt : : (A) Patient
- . . - (B) Ambulance
EI(B:)) ? : : o o (©) Medic?ne
(D) 313?,? ' (D) Doctor

59, 3:15 4.1 ? 59. 3:15::14:7

(A) 30 (A) 30
(B) 15 | (B) 15_
(C) 20 o . (©) 20
(D) 25 | o (D) 25
60. TE : TR = PR : ? 60. Gangotri:Uttarl\(ashi:: Kedarnath:? .-
(A) =HET | (A) Chamoli |
(B) GEYIRT - (B) Rudraprayag
() W) ¥ (C) Pauri Garhwal
(D) EERIgH | | - (D) Dehradun

RGNV/20 - | i3 [ Turn Over]
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frder (s wear 61 ¥ 65 )
Fr=ifeiRad w2l § v Ko & 7 7,
S % 3T U o1 =1 R 1w et
¥ 3 B |

16, 25, 36, 49, 64,
| (A) 100

(B) 121

(C) 81

(D) 144

. ABCD, CDEF, EFGH, GHIJ,
(A) EFKL

. (B) KD

. (C) TIKL

(D) TIGH

. 20, 21, 23, 27, 35,
(A) 51 |
(B) 46
~(C) 49
| (D) 36

1, 8, 27, 64, 125
(A) 210
(B) 215
(C) 216
(D) 218

64.

65. AB,, CD., EF,,
| (A) GHy,
© (B) HG,
!

| (©) HG,

7

6
(D) GH,,

i.
RGNV/20

61.

62.

63.

64.

65.

20, 21, 23, 27, 35, .

Directions (Question No. 61 to_
65) : In the following questions a
sequence is given. Select the next
term of sequence from the -given
alternatives.

16, 25, 36, 49, 64,
(A) 100

(B) 121

(C) 81

(D) 144

ABCD, CDEF, EFGH, GHIJ,
(A) EFKL

(B) IKII

(C) IIKL

(D) IIGH

(A) 51
(B) 46
(C) 49
(D) 36

1,8, 27, 64, 125
(A) 210
(B) 215
(C) 216
(D) 218

HBa, €D, EF,; cooemers
(A) GH,,
(B) HG,,
(C) HG,

(D) GH, 4




fordet (v <=t 66 S 70 ) : FR=TaRaT
el W K@ & 3N U BT T QT T
ferepedt ¥ pifote 311 &z o &l 1 G
/el & T o e & -

o RNTE, TFITad, ST, ...
(A) BRER
(B) §NRAR
(C) ewRig
(D) FRGRI
68. I T FibRid HIT F CAT &I 3120,
BM@MQMﬁmmm%ﬁwwﬁ
foraT ST
" (A) 1820
(B) 2018
(C) 8120
(D) 8210

69. of R wisfies aeT & HEN @Y NEH,

CAT @1 TAC forar aimar & dl'RAT @
Ry ST
(A) ART
(B) TAR
(C) RAT
(D) TRA
RGNV/20

Directions (Question No. 66 to 70 ):
In each of the following questions,
choose that word which has the same
relationship among the glven three
words-

66.

69.

i5

_Mumbal Chennal Kochi, :..vcu.u..

(A) Amritsar
(B) Allahabad
(C) Raipur

(D) Pondicherry

. Pithoragarh, Champawat, Almora,

- (A) Haridwar

(B) Bageshwar .
(C) Dehradun

- (D) Uttarkashi

. In a certain code if CAT is written

as 3120, BAT is written as 2120

then HAT will be coded as -

(A) 1820
(B) 2018
(C) 8120
(D) 8210

In a certain code language if HEN is
written as NEH; CAT is V\.Jritten'as
TAC then RAT will be coded as -
(A) ART |

(B) TAR

(C) RAT

(D) TRA

[ Turn Over]




73,

. S o # P

T qE UgeT 37O -
(A) Alloying
(B) Allotted

(C) Allocate

(D) Allotter

< 000 T S & o v e

Godl & HET S Tl BDIOT &R -
(A) 60°
(B) 30°
(C) 90°
(D) 45°

. s 57 UK Ia newr I qEteg

& 3% N TBR ‘I T & -
(A) 39

(B) IRaT ¥

(C) |Y

.. (D) PSR

R, < IR S B 3 37 AT

e # 80 7 &1 o o o 3t 3y

&1 AT & &I -
(A) 73 a9

- (B) 719§
(C).74a

(D) 7799

.‘ﬁamﬂg(smﬁmlan'fﬁ¥ruaﬂ<:ﬁh§
¥ e © 3 3 TR e cIA
(Repew) T & -

(A) T&T (3a®) &

(B) B
(C) g8l ¥

(D) Te@ =&

RGNV/ 20
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~70.

Z1.

72,

73.

- 74.

In the following words, which word
will come first in English dictionary?
(A) Alloying

(B) Allotted .

(C) Allocate

(D) Allotter

The andle formed by minute and
hour hands of a clock at 9:00 pm
would be -

(A) 60°

(B) 30°

(C) 90¢

(D) 45°

'Kathak' is related to 'U.P.' in the
same way 'Bihu’ is related to
(A) Assam
(B) Kerala

~ (C) Orissa

(D) Gujarat

The total of the ages of Amar, Rajan
and Jyoti in present is 80 years.
What was the total of their ages -
three years ago? |
(A) 73 Year
(B) 71 Year
(C) 74 Year
(D) 77 Year

'Ophthalmia’ is related to 'Eye'. In .
the same way 'Rickets' is related

- to

(A) Kidney

- (B) Nose

(C) Bone

(D) Heart




75, el B R e A S e

.. FIRNGUE 59 &1 SNHIRG 9T 82

76.

77.

78.

79.

~ 80.

(A) 3=
(B) W¥pd

(C) K

(D) =UTEr

(A) Peara
(B) SsfweT 9
(C) ¥
(D) fosbe &

T H fo5 e o B T gau &Kl
%-

(A) R

(B) Ty .

(C) g

(D) &l

YR 1331 &7 Fared S

(A) UG &I TgfT
(B) YR BT T

SRR

(C) WRd BT IR

(D) URdT PI &R

B & s AR m%@i‘rnﬁ‘r
(A) A

(B) IHaIRTHHS

(C) RMToT
(D) TR

BT TP T & -
(A) ToRT &
(B) 3R Ta2 &I
(C) IIRTEUS TN
(D) 3T &7

 RGNV/20
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7 S

76.

78.

80.

Besides Hindi, which one is the other

official language of Uttarakhand?
(A) English

(B) Sanskrit

(C) Urdu

(D) Nepali

Mitali Raj is related to :
(A) Football

(B) Badminton

(C) Hockey

(D) Cricket

. In Badrinath which God is mainly

worshipped :
(A) Shiv

| (B) Vishnu

(C) Durga
(D) Brahma

Supreme Commander of Indian
Army is :

(A) - The President of India

(B) The Prime Minister of India

(C) The Vice President of India
(D) The Defence Minister of India

. Which book is written by Valmiki:

(A) Rigved _
(B) Ramcharitmanas
(C) Ramayan-
(D) Sursagar

‘Chéufula‘ is a dance of :-
(A) Gujarat

(B) Uttar Pradesh

(C) Uttarakhand

(D) Assam
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{ Directions (Question No. 81 to 85 ) : In problem figure', two figures are there inthe  —
1 left of the sign of proportionality (::) and one figure and a question mark (?) are |
to the right of it. There should be the same relationship between the two figures
of right hand side as it is between two figures of the left hand side. Choose the

appropriate figure from the answer figures which replaces the question mark (?).

81 SERIRI AT (Problem Figure) FHR 34@- IeT (Answer Figure)

o7 Blle] oo

. (A (B) . (C) (D)
' 82. HHIT MBI (Problem Figure) . 3R 3P (Answer Figure) -

KED ] 7] [ ®] K| |+
w e © O
3TR P (Answer Figure) |

@ ®  © O

; ) W%@%(Answer Figure). o

s | ' " ? | .

12Ok 7] [Allol[al[o]
| | (A) (B) © (D)

:85. GIRQJTBT@% (Problem Figure) B?RIH@% (Answer Figure) -

i,

aB |:|bA |iz|eF |1 ? | |FE | |Ef | |fE | |eF )

®w  ®  © O
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3TN & THM 3BT ﬁ 3R 3MGieT § | gl-—ILI

Directions (Question No 86 to 90 ) : There is a problem figure in the left side and
“answer figures are in the right side. Choose the similar figure as problem ﬂgure

from the answer figures.

86. THHI lﬂlqold (Problem. Figure)

3TR 3MHT (Answer Figure)

NN

A

(A) (B) (©) (D) -
87. \LlH%qi :ﬂlqnf?[ (Problem Figure) 3?1?31@% (Answe‘r Figure)
—0 ‘ — — — o —s
o0—— o— o—— o—— P
R Sre— Em— o0— . — o
| (A) (B) ©) - (D)
88. |HRAT 3TPI (Problem Figure) 3R 3BT (Answer Figure)
(A) (B) (©) (D)
89. TR 3MHIT (Problem Figure) 3R 3BT (Answer Figure)
(A) (B) (©) (D)
90. GIR?JT 34'@% (Problem:Figure) IR 34'@% (Answer Figure)
+ | + + | * E% +v++ T+1+]
+ |+ + |+ + |+ + + |+
(A (B) (©) (D)
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! Directions (Question No. 91 t0 94 ) :

w0 ¥ T &, foveq ve R (37T

=

ﬁ%ﬂ(us:r'\qmm T 94GP) : ﬁm%rﬁaamﬁar\far@%mé’rﬂé%l sqﬁﬁﬁh%ﬁr:rﬁo—\%

37erT) 21 1 3ol o gl

In the following questions, four figures are

given. Three of them are similar (alike) in a certain way and one is odd. Find the

(B)

(B)

(B)

odd figure.
W A
(A)
92.
N
93, @
(A)
(A)-
;'

~ RGNV/20

|

~] ]

© '(D)_._' .
(C) o ( |
D] &
(C) : l(D)A

,,
< (D)

20.
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ﬁéﬂ(mm%-@maﬁ) ﬁm%ﬁaamﬁwmmé’rﬂé% T5tTeT was wmr 3rgot

&1 3R 3t 7 fiv T Reed § 3 98t fdwer YT S TwRar Spicr $f qRT BRa &l

Directions (Question No. 95 to 97) : In the following questions, a problem ﬂgure is
. given which is mcomplete Find the correct alternatlve from the given options

which complete problem figure.

95. T 3MHId (Problem Figure)

TR 34'@% (Answer Figure)

|

1NN

(A)

96. qHHI 3-IIg_2fEl (Problém Figure)

®. . (© (D

3R 3BT (Answer Figure)

\

Zal A B 7

AN

21| |l2l||iZ]

®) (B) ©  ©
97. HHI mlqvlrc\-i (Proble.rﬁ Figure) R 34@% (Answer Figure)
P
(A (B) ©  ©®
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Forber (7 e 98 < 100 ) : RrefeiRae et # el 3R T IGHR D) a?r/%ﬁaml A TE

i .
98. WBH@% (Problem Figure)

?

1259 oz

{ A '
09. W 3MdId (Problem Figure)

gEnnnisa

100. AT SR (Problem Figure)

i

N
RGNV/20

!

Qirections (Questibn No. 98 to ‘100) : In the following questions, a series of
i problem figure is given left. At the end of series there is a question mark (?).

Choose the figure from answer figures to complete the series of problem figure.

I} BT@% (Answer Figure)

&; forrest wes am 3ot &1 Sivgen & aa & wenaTas g () o &1 3R el § & i
3TPIT YT i1 AT STBIcT Dol ST BY T Bl &l

ostel3g99l %993

1177

22

(A) (B) (O R (%)) [
FR 3?@% (Answer Figuré) |
P [
(A) (B) (©) (D)
3T 34'@% (Answer Figure)
AN 7
w ®  © (D
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